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Example Candidate Responses — Paper 4

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Accounting, and to show how different levels of candidates’ performance (high, middle or low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates for each question.

Please refer to the June 2023 Examiner Report for further details and guidance.

The mark scheme is available on the School Support Hub

9706 June 2023 Question Paper 42

9706 June 2023 Mark Scheme 42
9706 June 2023 Insert 42

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 4

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner
comments.

Example Candidate Response — high Examiner comments

(i) the net cash flow for each year and in total for the project

a The initial cost, cash flows

for each year and the total cash
flow are all calculated correctly.
Mark for (a)(i) = 4 out of 4

Answers are by real candidates in exam conditions. (Examl_ner comments are )
These show you the types of answers for each level. along_s ide the answers. These —
Discuss and analyse the answers with learners in the explain where and_ why marks
classroom to improve their skills. were awarded. This helps you

to interpret the standard of

Cambridge exams so you can

help your learners to refine their

\exam technique. )

How the candidate could improve their answer

(e) Two extra marks could have been gained by considering the change in the accounting rate of return when the
extension is built along with one other appropriate point (for example risk/estimates or specific non-financial factors).

This section explains how the candidate could have
improved each answer. This helps you to interpret
the standards of Cambridge exams and helps your
learners to refine their exam technique.

Common mistakes and guidance

* (a)(i) The candidate should have taken careful note of the question wording and identified that a total figure is also
required in addition to the net cash flow for each year.

¢ (a)(ii) The correct calculation of the average profit would have resulted in the award of full marks.

¢ (c) The candidate should have ensured that the change in NPV was calculated correctly by identifying the change
from a positive to a negative value of NPV.
+ (d) The remaining marks could be gained by discussind This section lists common mistakes as well as
relevant points. helpful guidance from the examiner. This will help
your learners to avoid these mistakes. You can
use this alongside the relevant Examiner Report to
guide your learners.




Example Candidate Responses — Paper 4

Question 1

Example Candidate Response — high Examiner comments

1 Read Source A in the insert.

(a) Calculate:

(i) the net cash flow for each year and in total for the project

G The initial cost, cash flows

for each year and the total cash
flow are all calculated correctly.
Mark for (a)(i) = 4 out of 4

The accounting rate of return is
Additional information calculated correctly.
Mark for (a)(ii) = 3 out of 3

Hiram’s cost of capital was 10%. The relevant discount factors were as follows:

Year Discount factors
1 0.909
2 0.826
3 © 0751
4 0.683

(b) Calculate the net present value (NPV) of the project.

............................................................................................................................. (dz2¢. © The net present value of the
I project is calculated correctly.
................................... T D R T R T PP TT PP PP PP PP PP PITIY [4] Mark fOF (b) = 4 OUt 0f4




Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments

Additional information

As Hiram remained undecided as to whether he should proceed, the residents made a further
suggestion.

In addition fo the sea wall, Hiram could build an extension to enable local fishermen to land their
catches more easily. This would add $20000 to the building cost.

The residents believed that if the extension was built, it would result in a further increase of
another 20 new houses being built in each of the years 2, 3 and 4.

(¢) Calculate the change in NPV which would arise if the extension was also built. Your answer
should indicate whether the change is an increase or a decrease.

o e

o The change in the net present
value is calculated correctly and
o there is a statement indicating

(d) Advise Hiram whether or not he should agree to build the sea wall and the extension. Justify that the change is a decrease.

your answer. Mark for (c) = 7 out of 7

Toe.. SR, b bl i o, S, 35, LS L oniich 3

preject. puovted o

is b y :.Oyowz,() (”""/‘J""‘]n“" erxeubion s nd¥

6 There is a decision and four

4 ; : 71 valid points resulting in the award of
cleriraite. Ovtaall ; in epinidn o> NPV S b M\w«w
YZ1Y:\4S?’\ v Me s)eq, :g.o..& ol e x Teadion Showhabma Y [Total: 25] 5 marks.

he i€ on WPV beuewen neqokve . 6 Mark for (d) = 5 out of 7

Total mark awarded =
23 out of 25

How the candidate could improve their answer

(d) Two extra marks could have been gained by considering the change in the accounting rate of return when the
extension is built along with one other appropriate point (for example risk/estimates or specific non-financial factors).

7



Example Candidate Responses — Paper 4

Example Candidate Response — middle Examiner comments

1 Read Source A in the insert.
(a) Calculate:

(i) the net cash flow for each year and in total for the project

Adea, o et wlew BN 27l oot T NCF. oo
&0 (Yp0900) » . (00000
....................................................... gyt GOS0
2 boooorkess o 208000
g 2 éfo%oﬁa[/bfgoe . Bboos

The net cash flows for all years
are calculated but the total is not
shown.

Mark for (a)(i) = 3 out of 4

e The average investment has
been determined and the correct
Additional information ; formula is applied so 2 marks are
awarded.

Mark for (a)(ii) = 2 out of 3

Hiram's cost of capital was 10%. The relevant discount factors were as follows:-

Year Discount factors
1 0.909
2 0.826
3 0.751
4 0.683

{b) Calculate the net present value (NPV) of the project.

NCE x DoFEDohy . Y

o The net present value of the
project is calculated correctly.
Mark for (b) = 4 out of 4




Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

Additional information

As Hiram remained undecided as to whether he should proceed, the residents made a further
suggestion.

In addition to the sea wall, Hirarn gould build an extension to enable local fishermen to land their
catches more easily. This would a 20000 to the building cost. Y 10000

The residents believed that if the extension was built, it would result in a further increase of
another 20 new houses being built in each of the years 2, 3 and 4.

(c) Calculate the change in NPV which would arise if the extension was also built. Your answer
should indicate whether the change is an increase or a decrease.

-

0. Lygooos) T (Yeesee)n ), (420000)
|

P BB000 Y000 o 8Y000%0-824 1 69384

A

A AeResetlony  Eloog v 0683

Y ) DO C5eh)....
' , 1926— 564 NP

(d) Advise Hiram whether or not he should agree to build the sea wall and the extension. Justify
your answer.

Mok 4il

° All revised cash flows including
the total are calculated correctly.
The only error is arithmetical.

Mark for (c) = 6 out of 7

e One mark has been awarded
for the decision and a further 2
marks for the comments about net
present value.

Mark for (d) = 3 out of 7

Total mark awarded =
18 out of 25

How the candidate could improve their answer

¢ (a)(i) The candidate should have taken careful note of the question wording and identified that a total figure is also

required in addition to the net cash flow for each year.

* (a)(ii) The correct calculation of the average profit would have resulted in the award of full marks.
¢ (c) The candidate should have ensured that the change in NPV was calculated correctly by identifying the change

from a positive to a negative value of NPV.

¢ (d) The remaining marks could be gained by discussing the accounting rate of return and providing two further

relevant points.
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Example Candidate Response — low

1 Read'Source Ainthe insert.
{a) Calcuiate:

(i) the net cash flow rfoer each year and'i;\jl total fér the project
. / Ve or :

Cotr e ;

VAP onrie Y-S - S L'.‘i;qeg.q-é?f).....: ........................... : oot ese et neeeeieees
ol 220G ... 28020 S BRI DR D
Sl dooeee. .. Jbeee. ... llbose, T O
Hon3. 100000, 10000 . JBOO O oo S
s fotece. .. Lbeoe. . lbeeo ,

” S T T NIy P —

o T T '

Additional information

Hiram’s cost of capital was 10%. The relevant discount factors were as follows:

Year Discount factors

1 0.909

2 0.826

3 0.751

4 0.683

(b} Calculate the net present value (NPV) 8}: El:fnggggt oV

...).’derﬁ.*?.......-(’.!.‘?..@.‘?.!—'?.?., ............................ Lo Gloeessd e
el HmmeltbiTe. X Y A 199730,
et 620022 B%i JBBL b,
TEHD léeos ... PN Y S
et leooo . . . o683 1223 €».............
..................................................................... NPV 9%

Examiner comments

0 The initial cost and the total
cash flows are treated correctly but
the flows for years one to four are
incorrect.

Mark for (a)(i) = 2 out of 4

The average investment
is calculated correctly with the
consequent award of 1 mark.
Mark for (a)(ii) = 1 out of 3

e The net present value of the
project is calculated correctly based
on the candidate’s own figures.
Mark for (b) = 4 out of 4

10




Example Candidate Response — low, continued

Additional information

As Hiram remained undecided as to whether he should proceed, the residents made a further
suggestion.

In addition fo the sea wall, Hiraimn could build an extension to enable local fishermen to land their
catches more easily. This would add $20000 to the building cost.

The residents believed that if the extension was built, it would result in a further increase of
another 20 new houses being built in each of the years 2, 3 and 4.

(c) Calculate the change in NPV which would arise if the extension was also built. Your answer
should indicate whether the change is an increase or a decrease.

.. Coshllos.. At Hove...... CosT .. NetCash . Phosthbe. ... 0V
D_,_,{(oowo, ._.;(Hooo;o) feerressseeann I { clbw-'«\
Qo D Rowed) 199720 . 0. )3I550.
2 Mbere.......... Zheeo.......... (2e000)... [2epe 2.%%........... 99995,
3. llboep......... . 25es0....... (va’.)..- 2loem. ... PYs:) N, AR
Y 16002 Zeee. ... Reeed....... [ Ueee e 4B 824643

ettt ettt NP Selp..

The NPV, decroosedh by 69%0(/19% ~6d0). but still. is. pestre... )

(d) Advise Hiram whether or not he should agree to build the sea wall and the extension. Justify

your answer.
......l:'.*.".!.em...S.hm(d...qam.e....i-a....hu:’l&...‘f.’dﬁ..&ea.mnll...ena&..ex.lcetﬁsiaw...0.3 ............

%he)/hwe—(o;u{wet\’l@ Y..m.’w.‘.n.k..mems..zbz...ham.em«.ﬁh..;as.é ............

Do ol o xlonsion. ook vl eill. et Hitem. oxs...she il get..
fv?,opazweaclnhwesbc:wtemby@{andHee.es}en.swwwu

gek.other. igtw. income. .. Freon... Lishermen. come.. fo.Cakeh Gisk.an..
et extension.....

Example Candidate Responses — Paper 4

Examiner comments

o The discounting is carried out
correctly and the change in the

net present value is determined,
although the initial cost and flows
for years one to four are not correct,
so 3 marks are awarded.

Mark for (c) = 3 out of 7

e One mark has been awarded
for the decision and a further 2
marks for the comments about net
present value.

Mark for (d) = 3 out of 7

Total mark awarded =
13 out of 25

11



Example Candidate Responses — Paper 4

How the candidate could improve their answer

* (a)(i) The candidate should have read the question data carefully to be clear on how to calculate the annual cash
flows.

¢ (a)(ii) The average profit should have been calculated and then divided by the average investment with the result
being expressed as a percentage to two decimal places.

¢ (b) Own figures from (a) were discounted correctly and full marks were awarded.

* (c) The revised cost should have been used and the revised cash flows for years two to four should have been
calculated and discounted.

* (d) Four extra marks could be gained by addressing the accounting rate of return and providing other valid points
relevant to the scenario.

Common mistakes and guidance

¢ (a)(i) Many candidates ignored the highlighted fact that 80 houses were built each year. Candidates are advised to
read the question thoroughly.

e (a)(ii) There were no common errors, although candidates should ensure that the answer is stated to the required
two decimal places with a % sign.

¢ (b) This was very well answered with few errors.

* (c) Some candidates omitted the requirement to indicate whether the change was an increase or a decrease, and
the change from a positive to a negative net present value caused some arithmetical errors.

e (d) There were 7 marks available so the candidate should have given a decision along with six valid justification
points, covering NPV and ARR.

12



Example Candidate Responses — Paper 4

Question 2

Example Candidate Response — high

Examiner comments

2 Read Source B in the insert.

{a) Complete the following statement to reconcile the ﬂeX|ble budgeted profit with the actual profit
for April 2023.

Statement to reconcile flexible budggted profit and actual profit for April 2023

. Ly $ - $ .‘v $

. | Flexible budgeted profit . 25500
, | Variance ' - ° | Favourable | - Adverse

Sales price ) ‘

. 18750
Material price
e 94ho |
.Material usage ' aq_
: c doo

Labour rate %9 a 5 .

. | Labour efficiency

| Fixed overhead R o
expenditure R o0
Fl'xe_d overhead volume . | )’,)gooo

) | 5am |BHbol | At
Actual profit 3( g 5 G

Workings: - |ao
(6R- A A9 i P V6D

Oz - —;Bo 6'?: \q
MRV Gg-15) At-15

Tl B
= vz (oo &= e
‘9o 4 ot 2 o A

(\(9‘-“05))(3\550 I INY-N @ P A
S3GBE Mkbe| e 3 #6900
Caabo-Aho)eia 4G | ercgs 98oce FE00
= Foo A Voluwg = Y6000 =787
= |2poo A

All variances are calculated and
entered correctly and the statement
is reconciled.

Mark for (a) = 15 out of 15

13




Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments

Additional information

The directors of QW plc discovered that the company was losing customers because they preferred
the competitor’s product as it was recyclable. QW plc's product was made of non-recyclable
material. -

(b) Explain one possible reason for the material price variance.

ncars. (hak . compamy. Awe. ourhesad chawer:...
Yk kR whioh bzt in. 2% ok or. ... have....
Changad . 5009 ard) owrhesal brom. charga 402 @)

(c) Explain one possible reason for the labour efficiency variance.

(Aow. €FFiciency. Vaviane. is. Advese.. 3600 which .

@
(d) Advise the directors whether or not they should replace the existing material used in

production with a recyclable material. The recyclabie material would cost $24 per kg. Justify
your answer and support it with relevant calculations.

addibon. commuty i\ DEakO hogpy anddeed bran)
imgge wih be ouill iF recuclotle Inateiad = wsed

GG Ihmerc. i Jha¢ € i initese FhE. Qrohik: .
‘.%.Qixcﬁfa.rﬁ...419&!.4...[&2&[@..ﬁ@....6.2.6.%‘}.15“M@...&Jﬁx.tﬁ@d@é){f"{éfQ

o The reason for the variance
is identified and developed and 2
marks are awarded.

Mark for (b) = 2 out of 2

o Again, the reason for the
variance is identified and developed
and 2 marks are awarded.

Mark for (c) = 2 out of 2

o There is a decision, a
calculation of the change in actual
profit and three points of justification
so 5 marks are awarded.

Mark for (d) = 5 out of 6

Total mark awarded =
24 out of 25

How the candidate could improve their answer

(d) The candidate needed to calculate the profit from the flexible budget statement applying the cost of new material

to be awarded the sixth mark.

14
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Example Candidate Response — middle Examiner comments

2

Read Source B in the insert.

(a) Compiete the following statement to reconcile the flexible budgeted profit with thgg_c_ty_ngmﬂ\t

for April 2023.
Statement to reconcile flexible budgeted profit and actual profit for April 2023

$ $ $
Flexible budgeted profit 25500
Variance Favourable Adverse
1 Sales price
- |waso
Material price
- A4S O
Material usage
- A oo
Labour rate
- 2%9S
_L Labour efficiency
H6e0
Fixed overhead
~| expenditure Thoo
Fixed overhead volume \eDco
1390 | 406s0 | (90218)
Actual profit
ctual prof e | @

&Z'ine% (190 = 16S) XSO D 110 Nwene

Mdeied pree (1@ -19) K Y40 Powowekle

Maleted Usnge S (4-4-B)x (§x 150 = §900 Rvese
Ledooesr Ro¥e D L\‘a~\0\§o> %9550 DY D80S Fawowclole
Leloowr Aeciemey (2-3-4) x ®x1T0D §600 Awse
Blo oo oamerdiline D A 463 e Femwes

SYEASTIED

Fieed duahend) Volume S W (48 X 15e) ~ 463w 2 163e0fboge:

fogoo —A6Doe B SHoo Adiete
Nred. overh ead egperdiite D 4ogoo — 46D =) & Gtao Adwene,

a The sales, materials and labour
variances are all correct and 10
marks are awarded.

Mark for (a) = 10 out of 15

15



Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

Additional information

The directors of QW plc discovered that the company wigwg_guﬂamersm&ey preferred
the competitor’s product as it was recyclable. QW pic’s product was made of non-recyclable
- es EeeE pEee e e e

material.

_(T.i) Explain one possible reason for the material price variance.

....... ; mamqimgﬂpx\k@,vm}mce,mi@%hmom&
a\ueﬂ‘}vd\cza.a) ...... pree...a)...maledels....puchooed...... e ......
............................................................................................................................................. [2]
(c} Explain one possible reason for the labour efficiency variance.
Labous..... éfygqudvoﬁmc&hm@m&cﬂu&b ................
Ltz e raleem... .. prodacion. .. whidh...onght.. e due....
Yo sheap.... Mﬁ%w*mﬂeﬁe& ........... o ..........................
............................................................................................................................................. [2]

(d) Advise the directors whether or not they should replace the existing material used_in
production WLIf a recyclable material. The recyclable material would co§t $24 per k§. Justify

your answer and support it with relevant calculations.
and support it with relevant caiculatior

lls}ne&hxe"@%cf\abermkanc&MU\\erchtﬁch
Yo.reqain.. hese.. fosh. cusbmes o Mso... Dhe.. Labis.......

oo epemebee. . olddmms... S ... Cxpensive.... . hense.......
dhadll..advese.... Jhe... mddedad. puce. vodiomee..
...b.ﬂ....&&f&.B.S.Q.......Q‘.ﬂ%&@...:_...[?ﬁ.:.S.S)...?.‘..?f..‘.a.\..eé.]Sp].)...:..3. ..........
D Airecss.... Shadd. o atlh....ecydeble .
nheaded..... 00 tadlln e Do S remetia....

Jﬂapfél’eooi@cfmﬂe//t& ....... (ARG ... OO ... A0SR

e A reason for the variance
is identified but there is no
development.

Mark for (b) = 1 out of 2

Again, a reason for the variance
has been identified but there is no
development.

Mark for (c) = 1 out of 2

o There is a decision and two
points of justification so 3 marks are
awarded.

Mark for (d) = 3 out of 6

Total mark awarded =
15 out of 25

How the candidate could improve their answer

* (a) The correct calculation of the two overhead variances and of the actual profit (rather than the use of a balancing

figure) would have resulted in the award of a further 5 marks.

¢ (b) A development point such as the receipt of a discount would have resulted in full marks.
* (c) A development point such as demotivated workers would have resulted in full marks.
¢ (d) The profit calculations (flexible budget and actual) along with another relevant point would have resulted in the

award of a further 3 marks.

16



Example Candidate Response — low

2

Read Source B in the insert.

(a) Complete the following statement to reconcile the flexible budgeted profit with the actual profit
for April 2023. '

Statement to reconcile flexible budgeted profit and actual profit for Aprif 2023

§ $ $
Flexible budgeted profit 25500
Variance Favourable | Adverse
Sales price
\gT50
Material price ' '
%4450

Material usage

\ 5 Loo
Labour rate X

RERAS
Labour efficiency 540 o
Fixed overhead
expenditure { Too
Fixed overhead volume \D\ow o

58475 | 20750
Actual profit 3 5’3\5 “

Workings:
MR weene = (5000 AB) < 5P
N P ST \%)
- 350%\&: | 5300 15

Lekow vee = 4P~ AP w ANr

= (e vede) v 355, - 3825 T
5P

Example Candidate Responses — Paper 4

Examiner comments

“ Correct calculations are made
for the sales, materials price, labour
rate and fixed overhead volume
variances. The actual profit is also
correctly determined and therefore
9 marks are awarded.

Mark for (a) = 9 out of 15

17
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Example Candidate Response — low, continued

Additional information

The directors of QW plc discovered that the company was losing customers because they preferred
the competitor's product as it was recyclable. QW plc's product was made of non-recyclable
material.

(b) Explain one possible reason for the material price variance.
Tk d. Pase Yasienee.s. (b kaderd. Pive.. = Ac\%&..?\?sc‘xc,g)..?.(..ﬁ.ﬁ\gc&.@wﬁs—
m@%— 47250 ).%.3150

F‘ AT

......................... - Bcléo

(d) Advise the directors whether or not they should replace the existing material used in
production with a recyclable material. The recyclable material would cost $24 per kg. Justify
your answer and support it with relevant calculations.

Mm\wit&v\%&:\ Hleo.. o

................................................................................

Do Y e S ne) (Q?\oce the.... wls}\(\i} ..............
........... vvw&id:\%\a\é m&gf\A Mo \%\tﬁbbt€56g

T R X S e A B S L
AN e A0 00 -

Examiner comments

e There is no explanation. A
calculation was not required and
does not answer the question so no
marks are awarded.

Mark for (b) = 0 out of 2

0 Again, there is no explanation.
A calculation was not required and
does not answer the question so no
marks are awarded.

Mark for (c) = 0 out of 2

o The only mark awarded is
for the decision. There is no valid
justification provided.

Mark for (d) = 1 out of 6

Total mark awarded =
10 out of 25

How the candidate could improve their answer

¢ (a) Correct calculations of material usage, labour efficiency and fixed overhead expenditure variances would have

resulted in full marks being awarded.

¢ (b), (c) The candidate needed to identify a possible reason for the variance and develop the answer, for example

‘the price fell due to discounts received'.

¢ (d) Afurther 5 marks could have been obtained by submitting profit calculations and three valid points to support

the decision.

Common mistakes and guidance

* (@) The most common incorrect variance calculations were those related to the fixed overhead.
* (b) There were two available marks so candidates should have ensured that a possible reason is identified and

then developed sufficiently to receive the second available mark.

* (c) This was a two mark ‘explain’ question and, as for (b), a reason plus development was necessary to be

awarded both available marks.

* (d) The question specifically asked for relevant calculations but this request was ignored by many candidates.

18
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